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Put the statements that follow in a correct order for a program that defines a
class that models a number that has two parts. The class includes methods for
combining two such numbers arithmetically and a main() method that contains
code for testing the class.

Add comments to label these parts of the program:

• instance variables

• constructor

• accessors (getters)

• a method that produces a printable representation of an object

The finished program will produce this output:

a = 3/4

b = 2/3

a + b = 17/12

a - b = 1/12

a * b = 1/2

a / b = 9/8

Scrambled source code.

return new SpecialNumber ( n0 ∗ d1 − n1 ∗ d0 , d0 ∗ d1 ) ;
System . out . p r i n t l n ( ”a = ” + a ) ;
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} // getSecondPart ( )
else {
return new SpecialNumber ( n0 ∗ d1 , d0 ∗ n1 ) ;

return he lpe r ( b , a % b ) ;
this . secondPart = secondPart /gcd ;
SpecialNumber a = new SpecialNumber (3 , 4 ) ;
return this . g e tF i r s tP a r t ( ) + ”/” + this . getSecondPart ( ) ;

public SpecialNumber minus ( SpecialNumber otherSpecialNumber ) {
return a ;

} // minus ( SpecialNumber )

} // t oS t r i n g ( )
return this . secondPart ;
System . out . p r i n t l n ( ”a − b = ” + a . minus (b) ) ;
int gcd = he lpe r ( f i r s t P a r t , secondPart ) ;
int n0 = this . g e tF i r s tP a r t ( ) ;
return new SpecialNumber ( n0 ∗ n1 , d0 ∗ d1 ) ;

System . out . p r i n t l n ( ”a + b = ” + a . p lus (b) ) ;
public SpecialNumber over ( SpecialNumber otherSpecialNumber ) {

} // SpecialNumber
return this . f i r s t P a r t ;
int n1 = otherSpecialNumber . g e t F i r s tP a r t ( ) ;

public int getSecondPart ( ) {
int n0 = this . g e tF i r s tP a r t ( ) ;

public stat ic void main ( St r ing [ ] a rgs ) {
private f ina l int f i r s t P a r t ;

} // t imes ( SpecialNumber )

this . f i r s t P a r t = f i r s t P a r t /gcd ;

System . out . p r i n t l n ( ”b = ” + b ) ;
int n1 = otherSpecialNumber . g e t F i r s tP a r t ( ) ;

public int ge tF i r s t Pa r t ( ) {

return new SpecialNumber ( n0 ∗ d1 + n1 ∗ d0 , d0 ∗ d1 ) ;
public St r ing toS t r i ng ( ) {

int n0 = this . g e tF i r s tP a r t ( ) ;
} // e l s e
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} // i f
public SpecialNumber ( int f i r s t P a r t , int secondPart ) {

int d0 = this . getSecondPart ( ) ;
private int he lpe r ( int a , int b ) {

int d1 = otherSpecialNumber . getSecondPart ( ) ;
package spec ia lnumber ;

} // main( S t r ing [ ] )
int d1 = otherSpecialNumber . getSecondPart ( ) ;
int d0 = this . getSecondPart ( ) ;

public class SpecialNumber {
} // he l p e r ( in t , i n t )

System . out . p r i n t l n ( ”a / b = ” + a . over (b) ) ;

int d0 = this . getSecondPart ( ) ;

} // g e tF i r s tPa r t ( )
public SpecialNumber p lus ( SpecialNumber otherSpecialNumber ) {
} // over ( SpecialNumber )

int d0 = this . getSecondPart ( ) ;
i f ( b == 0 ) {

SpecialNumber b = new SpecialNumber (2 , 3 ) ;
private f ina l int secondPart ;

int d1 = otherSpecialNumber . getSecondPart ( ) ;

} // p lu s ( SpecialNumber )
int n1 = otherSpecialNumber . g e t F i r s tP a r t ( ) ;

public SpecialNumber t imes ( SpecialNumber otherSpecialNumber ) {

int d1 = otherSpecialNumber . getSecondPart ( ) ;
System . out . p r i n t l n ( ”a ∗ b = ” + a . t imes (b) ) ;
int n1 = otherSpecialNumber . g e t F i r s tP a r t ( ) ;

} // SpecialNumber ( in t , i n t )
int n0 = this . g e tF i r s tP a r t ( ) ;

@Override
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